ASSEMBLY

NS Bleanle ol COMPACT DINING SET

30 MINUTES

e @
APPROXIMATE II"W

ASSEMBLE TIME 2 PERSON ASSEMBLY

FLOOR AREA
2.5M X 2.5M

'“‘-\-._h_ rd
LY

CEILING HEIGHT
2.0M

CUSTOMER HELPLINE

customer care line

Should you require any further assistance with the assembly of
this product or require any spare parts please contact our

2017 version 1




ASSEMBLY
COMPACT DINING SET

TABLE PARTS LIST

A B C D E G
m M6x40 M6x 32
2PCS 2PCS 1PC 1PC 12PCS 4 PCS
CHAIR PARTS LIST
H I J K L M
aD,
0 N,
§/ @ ¥ |
M6x28 M6x28
2PCS 2PCS 2PCS 2PCS 8PCS 2PCS
N 0 P Q R S
‘| € w d l“
M4x12 M6x16
SPCS | 2PCS | 2PCS | 8PCS | 1PC 1PC

2017 version 1




ASSEMBLY

DI I COMPACT DINING SET

Top

1.

Tips before you start!

Please check that all parts are present before you start the assembly of

your furniture. Please keep all the packaging for the product until you are satisfied
with your purchase as we cannot accept any returned item not in the original
packaging.

For ease and speed of assembly, we recommend that before you commence each
step of the assembly, that you identify all the parts required for that step.

. For larger items, please ensure that you have sufficient space and people (as

indicated on page 1) to assemble your product safely.

. We recommend that, where possible, all items are assembled near to the area in

which they will be placed in use, to avoid moving the product once assembled.

For the protection of your furniture we recommend that the product is placed on a
protected surface during assembly to prevent any damage.

. During assembly please take care not to over-tighten any fittings, as this may

damage the product.

Care and Maintenance of your Furniture.

. Please periodically check all fittings and re-tighten as necessary.
. Please do not sit or stand on the table.
. Please do not stand on the chairs.

. Never allow any kind of liquid to remain on your furniture, absorption can cause wood

to warp or finishes to de-laminate.
Please do not drag and pull your furniture.

To clean your items, please use a soft cloth moistened in luke warm soapy water.
Then buff with a dry cloth.

To prevent damage to the table top, please do not place hot items (e.g. hot drinks)
directly on the surface.

2017 version 1




ASSEMBLY

COMPACT DINING SET

INSTRUCTIONS

Table
Assembly

in seperate bag

Part G M6x 32mm
with Part E only.

rNote:

\,

Please make sure you have the correct Part G to
attach the table frame to table top.
Using any other bolt may damage the table top.

Lo
Part E M6 x40mm in
bag with Part G only

2017 version 1




ASSEMBLY Chair
NS Ul -OMPACT DINING SET Assembly

©
b

MmN

Jll_






